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BIOMOLECULES

Illustration

1. Distinguish between o« — D-gluecop-yranose (I) and

methyl @ — D-gluocopyranoside (II).

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IzvNFAkp45ho

2. Write the structures obtained by the epimerisation of

a — D-gluocose at C' — 2, C' — 3,and C' — 4(OH) groups.

o Watch Video Solution

3. Explain, in neutral or basic aqueous solution, glycosides do
not show mutarotation, but in acidic medium they show

mutarotation.

o Watch Video Solution

4. Complete the following reactions:

(a). OCH — (CHOH),CH,Oh ——
5HIO,


https://dl.doubtnut.com/l/_N3Q9nRhNZjPL
https://dl.doubtnut.com/l/_LLI3t9ZP2SYc
https://dl.doubtnut.com/l/_rCxQWnr1rxY6

o

|| 5HIO,

(b). HOCH, — C — (CHOH), — CH,Oh —
zn/ ACOH

(c)O=HC-C - (CHOH),CH,OH ——

[ Onsone
! (Onsone)

° View Text Solution

5. (a). Glucose and fructose form the same osazone, what
does it prove?

(b). Why more than 3molofPhRNHNH, do not react with
glucose and fructose and how does PhNHN H,, which is a
powerful reducting agent, act as an oxidising agent in this

case?

° View Text Solution



https://dl.doubtnut.com/l/_rCxQWnr1rxY6
https://dl.doubtnut.com/l/_KoA7AFjpxZWh

6. Complete the following reactions

Maltose
(A)

@ & © @ @© © (&)

Dil. HCI |Maltase |Emulsin Fehling’s [dil. NaOH| Excess A
enzyme [enzyme |soln. of B? ‘
PhNHNH,| 2
? ? ?

? ? ? ?

o View Text Solution

7.(a). Why is 8 — D — gllucopyranose the most abundant of
naturally occurring aldohexoses?
(b). Write the most stable chair conformer for « — D —

fructopyranose. How does it dirrer from 8 — anomer?

o Watch Video Solution



https://dl.doubtnut.com/l/_kpGma77Jx8xM
https://dl.doubtnut.com/l/_vwxXZoRYHMSQ

8. (a). What is the average molecular mass of starch?
(b). What is the approximate average number of glucose
units in the sample of starch?

(Given:ZOgmL_1 of starch has an osmotic pressure

= 10" *atmat25°C. )

° View Text Solution

9. The specific rotation of o — glucose is +112° and § —
glucose is +19° and the specific rotation of the constant
equilibrium mixture is +52.7°. Calculate the percentage
composition of anomers (a and ) in the equilibrium

mixture.

° View Text Solution



https://dl.doubtnut.com/l/_7qzPD7pChJh4
https://dl.doubtnut.com/l/_zeEl4EQpPbTP

10. Give the steps for the conversion of D — glucose to D —

fructose and vice versa.

o View Text Solution

1. Explain why aldoses react with bendict's solution and

PhNHNH,, but not with NaHSOs.

o View Text Solution

12. A tripeptide oon complete hydrolysis gives glycine,
alanine, and phenylanine,using three-letter symbols write

down the possible sequences of the tripeptide.

o View Text Solution



https://dl.doubtnut.com/l/_VsLIqGbXBKsR
https://dl.doubtnut.com/l/_OqLN5dHQd5Q9
https://dl.doubtnut.com/l/_Yq95prShVwgc

13. Adipetide on hydrolysis gives two amino acids.

(A)NH2|CHCOOH and (B)H2N|CHCOOH
R R’

The dipetide is also hydrolyses by leucine amino peptidase
enzyme giving amino acid (B). What is the structure of

dipeptide?

° Watch Video Solution

14. Give reason to explain why:
Gases are so easily compressible whereas it is impossible to

compress a solid or a liquid.

o Watch Video Solution



https://dl.doubtnut.com/l/_9WyB8xgjj1fN
https://dl.doubtnut.com/l/_dmh1kl9IjzZU

15. The two samples of DNA, A and B have melting
tempreatures (7,,,)340 and 350K respectively. Can you draw

any conclusion from this data regarding their base content?

o Watch Video Solution

16. In E. coliDNA, AT /GC ratio is 0.93. If the nimber of
moles of adenine in its DINA sample is 465, 000, calculate

the number of moles of guanine present.

° Watch Video Solution

17. If one strand of DNA has the sequence ATGCTTGA, the

sequence in the complimentary strand would be

| o war_ao _L vl _ ~_1__.n°_ _


https://dl.doubtnut.com/l/_PgBBmLhMzvZt
https://dl.doubtnut.com/l/_Mm3AitB0iJ2x
https://dl.doubtnut.com/l/_D12yWiAGiG9n

L T Vvvallll VviUcCo o0Iulionl ) |

18. What will be the sequence of bases on mRNA molecule

synthesised on the DN A strand, TATCTACTGGA?

o Watch Video Solution

19. An unsaturated fatty acid on ozonolysis yields one
aldehyde  H3C(CH,),CHO and an  aldehyde
monocarboxylic acid OHC(CH;),COOH. Write down the

structure and name of the acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_D12yWiAGiG9n
https://dl.doubtnut.com/l/_UIaFpUq60nWD
https://dl.doubtnut.com/l/_tKhKD27cBTdQ

20. One mole of a naturally occurring fat on hydrolysis with
NaOH gave 1mol of glycerol together with sodium
palmitate and sodium stearate in 1:2 molar ratio. The
molecule of the fat is symmetric. Write down the struceture

of the fat.

o Watch Video Solution

Solved Examples

1. Convert D-glucopyranose to 2,3,4—  triethyl

gluocopynoside.

o Watch Video Solution



https://dl.doubtnut.com/l/_pM6WpzlrxglG
https://dl.doubtnut.com/l/_1K2724lusYAk
https://dl.doubtnut.com/l/_WFvHMIUbCx52

2. Give Principle of: Centrifugation

o Watch Video Solution

3. Differentiate between D — erythrose and D — threose by

(a) mild oxidation and (b) reduction.

o Watch Video Solution

4. Name the smallest aldose which forms cyclic hemiacetal

and the functional groups are involved in its formation.

o Watch Video Solution

5. Give 4 properties of metals.



https://dl.doubtnut.com/l/_WFvHMIUbCx52
https://dl.doubtnut.com/l/_yQDBNZKGBhBo
https://dl.doubtnut.com/l/_rnbR7gj0inzf
https://dl.doubtnut.com/l/_zQqgu0dkkL1t

I o Watch Video Solution

6. Give the structure and IUPAC name of disaccharide,

which gives the reactio given below:

®
K ) H.0
Disaccharide ——> Glucose + Fructose

(A) ‘ 5
Hydrolyse both by T

maltase or emulsin
Methylaﬁon and hydrolysis

2,3.4,6-Tetra-o-methyl-D-glucopyrane (B)
+
1,3,4,6-Tetra—o-methyl-D-fructofuranose (C)

Given, (A) does not reduce Fehling's solution and does not

mutarotate.

o Watch Video Solution



https://dl.doubtnut.com/l/_zQqgu0dkkL1t
https://dl.doubtnut.com/l/_1q5y70YRRYr9

7. a. Give a chemical test of starch with I,.

b. What is the change in colour, when the test is performed
at high temperature?

c. What structural changes occurs during the change in
reaction conditions?

d. Do amylose and amylopectin give the same colour?

° Watch Video Solution

8. State necessary condition of iron corrosion.

° Watch Video Solution

9. When a Mg ribbon is burnt in air, Mg is oxidised or

Reduced?


https://dl.doubtnut.com/l/_lHzhR8XuXGuO
https://dl.doubtnut.com/l/_AOvuCg3cLjLT
https://dl.doubtnut.com/l/_H6MOEV8aHjvC

o Watch Video Solution

10. Aluminium oxide can react with both Acid and Bases.

Justify.

o Watch Video Solution

11. Define the terms:
a. Gene, b. Genetic code,
c. Transcription, d. Translation

e. Codond

o Watch Video Solution



https://dl.doubtnut.com/l/_H6MOEV8aHjvC
https://dl.doubtnut.com/l/_QLdpGPfvjKKG
https://dl.doubtnut.com/l/_8dOTvCoCV8nj

12. List three functions of nucleotides in a cell.

o Watch Video Solution

13. The two strands in DNA are not identical but are

complementary. Explain.

o Watch Video Solution

14. Write two main functions of carbohydrate in plants.

o Watch Video Solution

15. What type of bonding occurs in globular protein?



https://dl.doubtnut.com/l/_33V313wNRk18
https://dl.doubtnut.com/l/_E7qlGiI3WMZT
https://dl.doubtnut.com/l/_sdowvz9QFRbL
https://dl.doubtnut.com/l/_6f3LndXQ4W5u

| @9 Watch Video Solution I

16. What will be the sequence of bases on mRNA molecule

synthesised on the DN A strand, TATCTACTGGA?

o Watch Video Solution

17.Name one reducing and one nonreducing disaccharide.

o Watch Video Solution

18. Name on fibrous and one globular protein.

o Watch Video Solution



https://dl.doubtnut.com/l/_6f3LndXQ4W5u
https://dl.doubtnut.com/l/_C1vtWBJxSfeg
https://dl.doubtnut.com/l/_Lv34SGxjKPsW
https://dl.doubtnut.com/l/_Q5v6UYKBfQMq
https://dl.doubtnut.com/l/_oDGkXhgwwr3X

19. What is the cause of sickle-cell anaemia?

o Watch Video Solution

20. Give one example of a denaured protein.

o Watch Video Solution

21. Name a polypeptide hormone which maintains the

glucose level in the blood.

o Watch Video Solution

22. What is a nucleoside?

I o Watch Video Solution


https://dl.doubtnut.com/l/_oDGkXhgwwr3X
https://dl.doubtnut.com/l/_9PPeza6i2MSz
https://dl.doubtnut.com/l/_oMzd87Zm5cn8
https://dl.doubtnut.com/l/_pur01iSXLlvA

23. What is a nucleoside?

o Watch Video Solution

24. Name the purine bases and pyrimidine bases present in

RNA and DNA.

o Watch Video Solution

25. What are waxes?

o Watch Video Solution



https://dl.doubtnut.com/l/_pur01iSXLlvA
https://dl.doubtnut.com/l/_E3MJZQmrCwaf
https://dl.doubtnut.com/l/_fi6gvPyZzrNr
https://dl.doubtnut.com/l/_JCoaMh8fvlIE

26. What is mutarotation ?

o Watch Video Solution

27. What are nutral amino acids? Give two examples.

o Watch Video Solution

28. What are acidic amino acids?

o Watch Video Solution

29. What are basic amino acids? Give one example.

o Watch Video Solution



https://dl.doubtnut.com/l/_b8ALhkPhfBnn
https://dl.doubtnut.com/l/_jIC2XKIGoQLk
https://dl.doubtnut.com/l/_vgHrQpOEoJti
https://dl.doubtnut.com/l/_SPyeEyRkfSfe

30. Name the enzymes that help in the digestion of

carbohydrates.

o Watch Video Solution

31. Which one of the following is a protein deficiency disease?

° Watch Video Solution

32. Arrange the following sugars in the increasing order of

sweetness: glucose, fructose, sucrose.

° Watch Video Solution



https://dl.doubtnut.com/l/_SPyeEyRkfSfe
https://dl.doubtnut.com/l/_UX1aaqyIiSIe
https://dl.doubtnut.com/l/_bo00EDdreUlt
https://dl.doubtnut.com/l/_5w1Sv3gEnkER
https://dl.doubtnut.com/l/_crH2NjZkYBWw

33. Phospholipids are

o Watch Video Solution

34. Give two examples of disaccharides.

o Watch Video Solution

35. Name two important polysaccharides of D-glucose.

o Watch Video Solution

36. What is a peptide bond?

° Watch Video Solution



https://dl.doubtnut.com/l/_crH2NjZkYBWw
https://dl.doubtnut.com/l/_tNpMPosUr70s
https://dl.doubtnut.com/l/_d71blPqCpNcF
https://dl.doubtnut.com/l/_yt6oMgolCNsf

37. Name the building blocks of proteins.

o Watch Video Solution

38. Write the zwitter ion structure of glycine.

o Watch Video Solution

39. Which enzyme dissolves blood clots in the coronary

artery?

o Watch Video Solution



https://dl.doubtnut.com/l/_NR93IGRVvpY5
https://dl.doubtnut.com/l/_3MtTbnplv1dK
https://dl.doubtnut.com/l/_72V4nzH6Yvro

40. name three nucleic acids which are used in protein

synthesis.

o Watch Video Solution

41. What are biofuels?

o Watch Video Solution

42. What are the monomers constituting proteins?

o Watch Video Solution



https://dl.doubtnut.com/l/_xDYsLGw7BqfM
https://dl.doubtnut.com/l/_FVaCHqCMwtW9
https://dl.doubtnut.com/l/_pUL7Bj8kUTJQ

43. Write short notes on the following: (a) Enzyme specificity,

(b) Enzyme inhibition.

o Watch Video Solution

44.What is the effect of pH on the action of enzyme?

o Watch Video Solution

45, What are the functions of nucleic acids ? What are the

structures of sugar molecules present in DNA and RNA.

o Watch Video Solution

Exercises Concept Application


https://dl.doubtnut.com/l/_LRFi7a6prSxO
https://dl.doubtnut.com/l/_Lui6tcFoebcO
https://dl.doubtnut.com/l/_eoqbk0XXkHIU

1. What are monosaccharides ?

o Watch Video Solution

2. What are reducing sugars?

o Watch Video Solution

3. Write two main functions of carbohydrate in plants.

o Watch Video Solution

4. Classify the following into monosaccharides and

disaccharides. Ribose, 2-deoxyribose, maltose, galactose,


https://dl.doubtnut.com/l/_cLeXhp2cUKLd
https://dl.doubtnut.com/l/_NYwLAE4CQUMa
https://dl.doubtnut.com/l/_KIz8RWG3ibl1
https://dl.doubtnut.com/l/_EJvLgRzEmV62

fructose and lactose.

o Watch Video Solution

5. What is a glycosidic linkage?

o Watch Video Solution

6. What is glycogen? How is it different from starch?

o Watch Video Solution

7.What are the hydrolysis products of

(i) sucrose and (ii) lactose?

o Watch Video Solution



https://dl.doubtnut.com/l/_EJvLgRzEmV62
https://dl.doubtnut.com/l/_7ixhao9vOsjZ
https://dl.doubtnut.com/l/_HyCbEZqQ4O0Q
https://dl.doubtnut.com/l/_1XQ2bqwXRiBr

8. What is the basic structural difference between starch and

cellulose?

o Watch Video Solution

9. What happedn when D-glucose is treated with the
following reagents :

(i) HI (ii) Bromine water (i) HNO;

o Watch Video Solution

10. Write such reactions and facts about glucose which

cannot be explained by its open chain structure.

| ﬂ Watch Video Solution


https://dl.doubtnut.com/l/_1XQ2bqwXRiBr
https://dl.doubtnut.com/l/_HsDMtsS25JcV
https://dl.doubtnut.com/l/_93osJFZS5t3a
https://dl.doubtnut.com/l/_9YpUdDUQlC4O

11. What are essential and non-essential amino acids? Give

two examples of each type.

o Watch Video Solution

12. Define the following as related to proteins:
(i) Peptide linkage
(i) Primary structure

(iii) Denaturation.

o Watch Video Solution



https://dl.doubtnut.com/l/_9YpUdDUQlC4O
https://dl.doubtnut.com/l/_QgMdpVO0mH9L
https://dl.doubtnut.com/l/_06mA0hVSwKhx

13. What are the common types of secondary structures for

proteins?

o Watch Video Solution

14. What type of bonding helps in stabilising the a-helix

structure of proteins?

o Watch Video Solution

15. Differentiate between globular and fibrous proteins.

o Watch Video Solution



https://dl.doubtnut.com/l/_che6pjLFvJFg
https://dl.doubtnut.com/l/_8ahnYJSkUT4y
https://dl.doubtnut.com/l/_6vSnQvXhytfx

16. How do you explain the amphoteric behaviour of amino

acids?

o Watch Video Solution

17. What are enzymes?

o Watch Video Solution

18. What is the effect of denaturation on the structure of

proteins?

o Watch Video Solution



https://dl.doubtnut.com/l/_GJTbPLZKxTWl
https://dl.doubtnut.com/l/_kS8GHqKtOqiT
https://dl.doubtnut.com/l/_Q4u970SZkg1N

19. How are vitamins classified? Name the vitamin responsible

for the coagulation of blood.

o Watch Video Solution

20. Why are vitamin A and vitamin C essential to us? Give

their important sources.

o Watch Video Solution

21. What are nucleic acids? Mention their two important

functions.

o Watch Video Solution



https://dl.doubtnut.com/l/_IRagWz85CWuZ
https://dl.doubtnut.com/l/_QM67RKMBBYjI
https://dl.doubtnut.com/l/_fancrer6flTk
https://dl.doubtnut.com/l/_HgMzW4UEip27

22. What is the difference between a nucleoside and a

nucleotide?

o Watch Video Solution

23. The two strands in DNA are not identical but are

complementary. Explain.

° Watch Video Solution

24. DIFFERENCE BETWEEN DNA & RNA

o Watch Video Solution

25. What are the different types of RNA found in the cell?


https://dl.doubtnut.com/l/_HgMzW4UEip27
https://dl.doubtnut.com/l/_xuTwYsaBh45Z
https://dl.doubtnut.com/l/_Gm9GKciKnriS
https://dl.doubtnut.com/l/_4US64r0dDeAW

o Watch Video Solution

Exercises Linked Comprehension

H —— OMe
H—2—O0H ¢ 10 1. Br,, H,0
B HCOOH + (B) os
H j OH , ;
H— (®) +(C)
CH,0H

The name of compound (A) is:

A. Methyl—a — D — glucofuranoside
B. Methyl— 3 — D — glucofuranoside
C. Methyl—a — D — glucopyranoside

D. Methyl— 3 — D — glucopyranoside


https://dl.doubtnut.com/l/_4US64r0dDeAW
https://dl.doubtnut.com/l/_jnQjAMbFjHWf

Answer: C

o Watch Video Solution

H —— OMe
H—1—0H 0 %5 HCOOH + (B) 2119
H ﬁ ZIOH 2 H,0®
H— (®) +(C)
CH,0H
(A)

2.

The number of moles of HIO, required in the above

reaction is:

A. One
B. Two
C.Three

D. Four


https://dl.doubtnut.com/l/_jnQjAMbFjHWf
https://dl.doubtnut.com/l/_62U60YoOIBJA

Answer: B

o Watch Video Solution

H — OMe
H—1—0H 0 %5 HCOOH + (B) -2t
ng——: o 2 H,0®
H— (®)+(C)
CH,0H
(A)

3.

The structure of (B) is:

H ——J— OMe
CHO 0
CHO

H

CH,OH


https://dl.doubtnut.com/l/_62U60YoOIBJA
https://dl.doubtnut.com/l/_WBXKgrkLO0pa

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WBXKgrkLO0pa

PI——l——Wthe

HO —[OH 02> HCOOH + (B) 17 ~2 10
H—4—OH = ihe
H— (B) +(C)

CH,0H
(A)

CHO COOH
a | and H+OH
COOH

A CH,OH

. COOH

b. | and HO H

COOH CH,OH
. | and H OH
S CH,OH

COOH

d. | and HO H
D COOH CH,OH

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_U6bWmiBKLhWw

H —— O
H% OH O M0 o oy 0+ (B)y ="

H——oH ©+,

The name of compound (A4) is:

A. Methyl-a-D-glucofuranoside
B. Methyl-3-D-glucofuranoside
C. Methyl-a-D-glucopyranoside

D. Methyl— 3 — D — glucopyranoside

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_U6bWmiBKLhWw
https://dl.doubtnut.com/l/_rqE9pIvUQIma
https://dl.doubtnut.com/l/_9gTdRjeVWpvk

H—l—0oH O _HI0, LBr H.O

3 —> CH,=0 - (B) -
Hg—;—H l ’ 2 H.0®

v
;—OH (C)+~ (D
CH,OH
(A)

H

The number of moles of HIO, required in the above

reaction is:

A. One

B. Two

C.Three

D. Four

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9gTdRjeVWpvk
https://dl.doubtnut.com/l/_8RHPN4q5sEHE

Br}{@

H— OHO HI0, —— > CH,=O0O+ (B
HO——H | 2 (B) ey

H——OH ©+©)

The structure of (B) is?

OMe
CHO 0
CHO

A COOH

H—+—OMe
COOH 0

b.  coon

B. COOH

CHO


https://dl.doubtnut.com/l/_8RHPN4q5sEHE

H—+—OMe
O

CHO

d.
COOH
H

CHO

Answer: C

o Watch Video Solution

i~ ou]
—0oH O % 5 oy 0+ @B) —2°
3 2=
o 4—H ’ ZHO“l
H——OH (C)* (D)
CH,OH
(A)

Compound (C) and (D) are:

CHO COOH
and H OH

a
'00H
A COOH



https://dl.doubtnut.com/l/_8RHPN4q5sEHE
https://dl.doubtnut.com/l/_rU4rrcsUsDSN

CHO COOH
b. l and |
COOH CH,OH

COOH (OOH
e | and H+OH

"COOH 0
C. COOH

COOH COOH
i and |
COOH  CH,0f

Answer: B

o Watch Video Solution

D-Glucopyranose —e2MICT 5 () Excessol (©)
(A) McZSO4/8H
2.3-Dimethoxy succinic €- FINO, (D) (‘Dll. HCI»'
acid (E) and (0]
2.3.4-Trimethoxy glutaric acid
(F)

o.

Which sta tement(S) is /are correct about (A)?


https://dl.doubtnut.com/l/_rU4rrcsUsDSN
https://dl.doubtnut.com/l/_atUQtOL4LqNP

A. It contains an acetalic linkage.

B. It contains a hemiacetalic linkage.

C. It has a six-membered cyclic ring.

D. It has a &-hemiacetalic linkage.

Answer: B::C::D

o Watch Video Solution

D-Glucopyranose —MCOHHEL (B) Exc%\@Qf‘ —> (C)

(N\) Me,SO,/OH
. N Dil‘ll(‘,ll
2,3-Dimethoxy succinic eﬂ& - (D)

acid (E) and 10
2.3.4-Trimethoxy glutaric acid

10. (F)

Compound (B) is:


https://dl.doubtnut.com/l/_atUQtOL4LqNP
https://dl.doubtnut.com/l/_l9qqYZR8mCLF

CH,OMe
H H O . H

OMe H
2 MeONL— VOH

A. H OMe

CH,OMe
H M7 O.0H

B. H OMe

D. Both (a) and (b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_l9qqYZR8mCLF

McOH/HCI F.xcess of

D-Glucopyranose »>(13) 52 (C)
(A) Me,SO,/OH l
2,3-Dimethoxy succinic 6&— (D) Dil. HC
acid (E) and 0]
2.3.4-Trimethoxy glutaric acid

1. (F)
Compound (C) is:

CH,OMe

CH,OMe
H O
H
OMe
¢ MO
C.

H  OMe

D. All

Answer: C



https://dl.doubtnut.com/l/_lMTVFuEKyJQt

) Watch Video Solution

D-Glucopyranose — QIS (B) Excess of >(C)
(A) MCZS(J4/%H
23-Dimicthoxy succinic <- HNO; (D) fDil' HCl’
acid (E) and (9] |
- Trimcthoxy glutaric acid
(F)

12.

Compound (D) is:

CH,OMc

H A7 O\OH
OMe H
b- McO H
B.

H OMe

D. Both (a) and (b)


https://dl.doubtnut.com/l/_lMTVFuEKyJQt
https://dl.doubtnut.com/l/_R8QNV8mFGiRr

Answer: D

° Watch Video Solution

D-Glucopyranosc McO”/HCIﬁ‘(B) Excess of —>(C)
g 2\

(A) Me,50,/O ‘
2.3-Dimethoxy succinic (i\O; (D) Dil. Hel

acid (E) and 101
2.3.4-Trimethoxy glutaric acid

13. (F)

Which statement(S) is /are correct about the products (E)
and (F)?
A.The product (E) is ontained by the breakage of C' — 4
and C — 5 bond of compound (D).
B. The product (E) is obtained by the breakage of C' — 5

and C' — 6 bond of compound (D).


https://dl.doubtnut.com/l/_R8QNV8mFGiRr
https://dl.doubtnut.com/l/_1EfdT6UENocU

C.The product (F) is obtained by the breakage of C' — 4

and C' — 5 bond of compound (D).

D. The product (F) is obtained by the breakage of C' — 5

and C — 6 bond of compound (D).

Answer: A::D

° View Text Solution



https://dl.doubtnut.com/l/_1EfdT6UENocU

. - McOI/EIC
D-Crilucofuranose -jﬂiLl—% (H)‘——“LL of

(A) M, SO, /OH

(I)) Il HO (C)

(0] HNO,
Path (a) Path (b)
COOH COOH "OOH
-OMe }701\40 : OMe

F McOJ + MeOCH, COOH
C1L,OMe  COOH COOH
Dimcthoxy Mecthoxy 2,3-Dimethoxy  2-Methoxy
glyceric arcd malonic acid succinic acetic

acid acid

14.
Which statement(S) is /are correct about (A)?
A. It contains an acetalic linkage.
B. It contains a hemiacetalic linkage.
C.It has a six-membered cyclic ring and a d-hemiacetalic
linkage.
D. It has a five-membered cyclic ring and a y-hemiacetalic

linkage.


https://dl.doubtnut.com/l/_OzgK3nsQWTwd

Answer: B::D

o Watch Video Solution

: ; OH/HC Frcens of
D-Glucoluranose MECHA (B) — (‘i
)
(A) Me, SO /O
il HC ,
(D)<————(C)
[O]] HNO,

Path (a) Path (b)

v R

COOH COOH "OOH
OMe
OMe OMe
}ﬁ ¢ fﬁ ¢ McO + MeOCH2 COOH

CH,OMc  COOH COOH
Dimethoxy Mecthoxy 2,3-Dimethoxy  2-Mcthosy
glycericaicd  malonic acid succinic acctic
acid acid

15.

Compound (B) is:

‘CH,0Me
SCHOMe
O-_H

4 I
a.  ‘KOMeH
MeO / OH

3
H OMe


https://dl.doubtnut.com/l/_OzgK3nsQWTwd
https://dl.doubtnut.com/l/_VEbTPzFFJirU

D. Both (a) and (b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VEbTPzFFJirU

McOH/HC

foxcess of

D-Glucofuranosc > (B)—— R
(A) Me,S0,/¢ "
”)) Dl HC (C)
[0]] HNO,
Path (a) Path (b)
COOH COOH "OOH
OMe
OMe OMe
F f" Mcoj + MeOCH, COOH
C1,0Me  COOH COOH
Dimethoxy Mecthoxy 2,3-Dimethoxy  2-Methoxy
glyceric aicd  malonic acid succinic acetic
acid acid

16.

Compound (C) is:

°CH,0Me
SCHOMe
O-_H

4 |
a. OMe H
MeO / OH

3
H OMe

6C‘HZOMe
SCHOMe
O._ OH

b. * OMeH};
MeO 2

3
H OMe


https://dl.doubtnut.com/l/_ONsXpakP0XcU

Answer: C

o Watch Video Solution

: . McOT/HC
D-Glucoluranose ——=202 1y (B)—-

(A) Mo SO JON

Forcen ol

(D) il HC (C)

[0]| HNO,

Path (a) Path (b)

v Vv

COOH COOH "OOH
OMe
~-OMe OMc
F M¢ }* c MeOJ + MeOCH, COOH

C11,0Mc — COOI COOH

Dimcthoxy Mcthoxy 2,3-Dimethoxy  2-Methoxy

glyceric ared malonic acid succetnic acetic
acid acid

17.

Compound (D) is:


https://dl.doubtnut.com/l/_ONsXpakP0XcU
https://dl.doubtnut.com/l/_mj9kAWcntcE0

D. Both (a) and (b)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mj9kAWcntcE0

D-Glucofuranosc jﬂgﬁﬂ'—) (B) ool
(A) Me,S0,/¢ o
”)) il HC (C)
[0]] HNO,
Path (a) Path (b)
COOH COOH "OOH
OMe f——OMC OMe
F MeO + MeOCH, COOH
C1,0Me  COOH COOH
Dimcthoxy Mcthoxy 2,3-Dimethoxy  2-Mcihoxy
glyceric aicd  malonic acid suceinic acctic
acid acid

18.
Which statemetn(S) is/are correct about the products
from (D) by path (a) and path (b)?
A. The products by path (a) are obtained by the breakage
of C' — 3and C — 4 bond of compound (D).

B. The products by path (a) are obtained by the breakage

of C' — 4and C — 5 and bond of compound (D).


https://dl.doubtnut.com/l/_8RxiNAu0bbrm

C. The products by path (b) are obtained by the breakage

of C' — 3 and C — 4 bond of compound (D).

D. The products by path (b) are obtained by the breakage

of C' — 4and C — 5 bond of compound (D).

Answer: A::D

° View Text Solution

1 1

CHO CHO
2 2
[ H H——OH pynpnm
HO—Y—n MNNL gy H—2—H I )
H—4—OH H—4—OH
H—t—OH H—4—OH
h 6
‘cH,0H CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
(A) (©)

19.

Compound (B) is:


https://dl.doubtnut.com/l/_8RxiNAu0bbrm
https://dl.doubtnut.com/l/_bdvFo1KIKXCZ

A. Phenylhydrazone of (A)
B. Osazone (A)

C. Both

D. None

Answer: A

o Watch Video Solution

1

CHO 2CHO
2
i H——OH pypnn
HO——p PN ) g3t —p T, (D)
]
H—?——OH S 8%
H—+—OH H——
6
CH,0H CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
(A) (©)

20.

How many moles of PhNH N H> react with 1mol(A)?



https://dl.doubtnut.com/l/_bdvFo1KIKXCZ
https://dl.doubtnut.com/l/_XANMs6tCnGeP

Al

B. 2

C.3

D.4

Answer: A

o Watch Video Solution

1 1

CHO CHO
2 2
i H—4+—OH pnin
HO—+—H m (B), H i H 3% (D)
H—4—OH H—4—OH
H—+—OH H——OH
6
‘cn,0n CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
’ (A) (©)

The compound (D) is:


https://dl.doubtnut.com/l/_XANMs6tCnGeP
https://dl.doubtnut.com/l/_4qVfrWV7ebIU

A. Phenylhydrazone of (C)
B. Osazone of (C)
C.Both

D. None

Answer: B

° Watch Video Solution

1 1

CHO CHO
2 2
- H H——OH pnpnn
HO—3Lp PhNHNH, J (B), H i H 7 (D)
H—4—OH H—4—OH
H—}—OH H—l—OH
6
‘cH,0H CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
22 (A) (©)

How manty moles of (C) react with 1molPhNHN H>


https://dl.doubtnut.com/l/_4qVfrWV7ebIU
https://dl.doubtnut.com/l/_oj9MH1iS2PbK

Al

B.3

C.2

D.1/3

Answer: D

o Watch Video Solution

., H;09 . .
Tetrapeptide ———> Four amino acids
(I) Glycine, Alanine, Valine,and Leucine

A ® (© (D

DNP method . . .
o > Tripeptide + Alanine (B)
Sanger’s method (II)
. or .

Leucine aminopeptidase NH,NH; (Hydrazinolysis)

enzyme or
Carboxy peptidase enzyme

Valine ¢« PA—N=C=S

(©) (Pheny! isothiocyanate) Dipeptide + Glycine (A)

(Edman method) (IH)
23.

The dipeptide (I11) is:


https://dl.doubtnut.com/l/_oj9MH1iS2PbK
https://dl.doubtnut.com/l/_cj8jD6wlaIYG

A.Val — Leu

B.Leu — Val

C.Gly — Ala

D.Ala — Gly

Answer: A

° View Text Solution

T .. H,09 : .
ctrapeptide ——> Four amino acids
(I) Glycine, Alanine, Valine,and Leucine

(A B (© (D

DNP method .
o > Tripeptide + Alanine (B)
S.anger grmetlwofi (I1)
Leucine :nmz;x}ggepndase NH,NH, (H())fiirazinolysis)
Carboxy peptidase enzyme
Valine ¢« Ph—N=C==S

(C) (Phenyl isothiocyanate) Dipeptide * Glycine (A)

(Edman method) (IH)
24,

The tripeptide (I1) is:


https://dl.doubtnut.com/l/_cj8jD6wlaIYG
https://dl.doubtnut.com/l/_YoxccTKtXpD1

A.Gly — Leu — Val

B.Val — Leu — Gly

C.Leu — Gly — Val

D.Val — Gly — Leu

Answer: B

° View Text Solution

.. H,0® :
Tetrapeptide ———> Four amino acids

(I) Glycine, Alanine, Valine,and Leucine

(A B (© (D

DNP method . .
Sangergrme“wd > TrlpeptldeI;r Alanine (B)
Leucine am?;opeptidase ngzl\?H'; (Hydrazinolysis)
enzyme T oor
Carboxy peptidase enzyme
Valine ¢« PA—N=C=S

(C) (Phenyl isothiocyanate) Dipeptide * GlyCine (A)

(Edman method) (IH)
25.

The tetrapeptide (1) is:


https://dl.doubtnut.com/l/_YoxccTKtXpD1
https://dl.doubtnut.com/l/_WWL3RiEiHh3r

A.Gly — Leu — Val — Ala

B.Ala — Val — Gly — Leu

C.Gly — Val — Leu — Ala

D.Ala — Val — Leu — Gly

Answer: D

° View Text Solution

o-Amino acid (A) -MeOHWHC, By (41 ,(NO5CI)

(C3H7NO3) o \L PCls
(D) (C3HgNOCI) <2 (C) (C4HoNO,Cl,)
Na—Hg/HCl
Alanine

26.

Compound A’ has many functional groups.

A1l


https://dl.doubtnut.com/l/_WWL3RiEiHh3r
https://dl.doubtnut.com/l/_wkLqClklCwUL

B.2

C.3

D.4

Answer: C

o Watch Video Solution

a-Amino acid (A) MeOHMC, - By (1 ,(NO5CI)
(C3H7NO3) \L PCls

b AD
(D) (C3HgNOXCl) <22 (C) (C4HsNOCly)
Na—Hg/HCl

27. Alanine
Compound (B) is:

OH
o L
A. a. Cl NHy” “COOMe


https://dl.doubtnut.com/l/_wkLqClklCwUL
https://dl.doubtnut.com/l/_Vf4VjBfR4tkM

B. €
Cl
c. Me NO,
C OH
D. OMe
Answer: A

o Watch Video Solution

o-Amino acid (A) -MeOUIC, gy (41 ,(NO5CI)

(C3H7NO3) o \L PCls
(D) (C3HgNOLCl) <22 (C) (C4HoNOLCly)
Na—Hg/HCl
Alanine

28.

Compound (C) is:


https://dl.doubtnut.com/l/_Vf4VjBfR4tkM
https://dl.doubtnut.com/l/_Z5vcXr6fnihS

Cl

@ e A
a. Cl NH; COOMe

Me

A.
Cl
8.
B b. Cl NH; COOMe
Cl
c. Me N>02
C Cl
0
d. Cl NH;_ |
\(\m
D OMe
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Z5vcXr6fnihS

o-Amino acid (A) -MeOHWHC, By (41 ,(NO5CI)

(C3H7NO») o \L PCls
(D) (C3HgNOLCl) <22— (C) (C4HoNOCly)
Na—Hg/HCl
Alanine

29.

Compound (D) is:

Cl

a. HZN/KCOOH

Cl

g b. H2N/<COOH

T
¢. HO” >SNH- Nl

A

C.

D. Both (b) and (c)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_A9PTPR9CO9Jo
https://dl.doubtnut.com/l/_ywat4fdK9moD

D-Glucose NaBHsy D-(B)—[OL—~> L-2-Ketosugar
Enzyme
(A) A. suboxydans (©)
Taut-
omerise
2 Acetone /‘

5]
1) KMnO,/OH _ +H,804 (D)

u® (
F)< <
ﬂ—( ) (ii) ag. HY E)

L-Ascorbic acid
(Vitamin C)

30.
Account for the acidity of L — ascorbic acid (pK, = 4.21).
Which of the following is most acidic H? (Marked in the

structure as H®, H®, H"ande)

A H"


https://dl.doubtnut.com/l/_ywat4fdK9moD

Answer: C

o View Text Solution

D-Glucose —NaBHsy D-(B) or L-2-Ketosugar
(A) A. iﬁiflgans (C)
Taut-
2 Acetone /l omense
() KMnO4/OH (E) < +H,80, (D)

F)<
\; ( (11) aq. H69

O
(&)
L-Ascorbic acid
(Vitamin C)

31.

How many chrial centres are in (G) (L-ascorbic acid) ?

Al

B.2


https://dl.doubtnut.com/l/_ywat4fdK9moD
https://dl.doubtnut.com/l/_2RS63IqZFfJm

C.3

D.4

Answer: B

o Watch Video Solution

(0]
D-Glucose —NaBHsy D-(B) En[zy]me > [-2-Ketosugar
(A) A. suboxydans ©)
Taut-
omerise
2 Acetone ,\
(1)KMnO4/OH B)< +H,80, (D)

F < <
\E—( (i1) aq. H ( )

(&)
L-Ascorbic acid
(Vitamin C)

32.

If the lacetone formation in compound (G) takes place


https://dl.doubtnut.com/l/_2RS63IqZFfJm
https://dl.doubtnut.com/l/_DHtNCVi75tUN

between C' — 1 and C — 5, then the structure of (G) can be

represented as:

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_DHtNCVi75tUN

i) KCN _
v > Products (B)

(i) Ba(OH), + H,S0, ~
lA
Na/Hg, H;0®

(D+E)<— Products (C)

D-Glyceraldehyde

D) _——IT\%__) Dibasic acid (optically active) (F)

(E) —ﬂ%)(—')—% Dibasic acid (optically inactive) (G)
: 3
33. ’

Two isomeric products are obtained in (B). They are:
A. Diastereomers
B. Anomers
C.C — 2 epimer

D.C — 3 epimer

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_EAhM3gyX8aO7

(i) KCN
(ii) Ba(OH), + HySO4

> Products (Bj

lA
Na/Hg, H,09
(D +E) < > 3 Products ©)

D-Glyceraldehyde

D) ,,'0?'_9 Dibasic acid (optically active) (F)

(1) —19L Dibasic acid (optically inactive) (G)
HNO;
34. »

The sequence from (A) to (D + E) is called:
A. Wohl's method
B. Ruff method
C. Kilian's method

D. Ekenstein method

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_dTw8ddm2pVyr

i) KCN :
® > Products (B)

(i) Ba(OH), + H,S0, ~
lA
Na/Hg, H;0®

(D+E) < Products (C)

D-Glyccraldehyde

D) .,'O_(L—» Dibasic acid (optically active) (F)

(E) _TILI\S%_—) Dibasic acid (optically inactive) (G)
: 3
35. ‘

Two isomeric products are obtained in (C) they are:
A. Both vy-lactones
B. Both d-lactones
C. One is v-lactone and another is §-lactone

D. None

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jL79vS257XIY

(i) KCN _
> Products (B)

(i) Ba(OH), + H,S0, ~
lA
Na/Hg, H;0®

(D+E)<= Products (C)

D-Glyceraldehyde

D) _—T]l—INQ(]‘)__) Dibasic acid (optically active) (F)
N3

(E) —ﬁ%)(—l)—% Dibasic acid (optically inactive) (G)
36. '

The compounds (F') and (G), respectively, are:

COOH COOH
a. OH and HO
OH OH
COOH COOH
A. 1) (I
B. (I1) and (I)
C.le
D. (IV) and (I11)
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_5baVcRHJbhsc

Exercises Multiple Correcttype

1. D-Glucose and D-fructose both form the same osazone,

Which statements are correct about the above reaciton?

A. Glucose and fructose are epimers.

B. Glucose and fruc tose are anomers.

C.The c onfigurations of the OH group at C-3 and c-4 in
glucose and fruc tose are same.

D. The configurations of the OH group at C -4 and C-5 in

glucose and fructose are same.

Answer: C::D

| o war_o_L vl _ _ ~_ .. _ _



https://dl.doubtnut.com/l/_5baVcRHJbhsc
https://dl.doubtnut.com/l/_EOdeOlpbgBBR

L T Vvvallll ViUcCo o0Iuliornl |

2. Give example of two C-2 Epimer.

o Watch Video Solution

3. We need to balance an unbalanced skeletal chemical

equation justify.

o Watch Video Solution

4. Which of the following statements are correct about a-

amino acids.


https://dl.doubtnut.com/l/_EOdeOlpbgBBR
https://dl.doubtnut.com/l/_s9RtQHFZhdhC
https://dl.doubtnut.com/l/_ARlTGhQQh27F
https://dl.doubtnut.com/l/_lNzsUemQmnsC

A. All the amino acids which constitute proteins have D-
configuration.

B. Isoelectric point of glycine is 6.1.

C. Valine is an essential amino acid

D. In a-amino acids, the basic group is ( — C’OO®> and

o
acidic groups is ( — NI-I3).

Answer: B::C::D

° Watch Video Solution

5. Which of the following exhibit mutarotation?

A. Glucose

B. Maltose


https://dl.doubtnut.com/l/_lNzsUemQmnsC
https://dl.doubtnut.com/l/_0JJuUALz9Sl4

C. Frctose

D. Galactose

Answer: A::B::C::D

o Watch Video Solution

6. Invert sugar is laevorotatory. True/False

o Watch Video Solution

7. What happens when Sodium Sulphate reacts with Barium

Chloride solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_0JJuUALz9Sl4
https://dl.doubtnut.com/l/_oL1Kzb1FCvoV
https://dl.doubtnut.com/l/_IiDwhe41VarD
https://dl.doubtnut.com/l/_ocPQ1xGXXzHV

8. The smallest aldose which is able to form cyclic hemiacetal
is/are:

A. D-glyceraldehyde

B. D-Erythrose

C. D-Threose

D. D-Ribose

Answer: B::C

o Watch Video Solution

9. Non Metallic oxides plus base is equal to ...

o Watch Video Solution



https://dl.doubtnut.com/l/_ocPQ1xGXXzHV
https://dl.doubtnut.com/l/_TqgoHBhDrHfE

10. Base+Metal=_ +

o Watch Video Solution

11. Dry Slaked Lime reacts with chlorine gas to form X Give

two uses of X.

o Watch Video Solution

12. Soda Ash on Recrystallisation gives ...

o Watch Video Solution

13. Which of the following pairs are C' — 2 epimers?


https://dl.doubtnut.com/l/_hZUM9ECNNhX6
https://dl.doubtnut.com/l/_zRzLaV1d5y5Y
https://dl.doubtnut.com/l/_8f6EIyoauMK5
https://dl.doubtnut.com/l/_q9nolZzHgUgn

A. Allose, Altrose

B. Glucose, Mannose

C. Both of these

Answer: A::B::C::D

o Watch Video Solution

14. Which of the following pairs form the same osazone ?

A. Glucose, Fructose

B. Glucose, Mannose

C. Ribose, Arabinose

D. Mannos4e, Fructose


https://dl.doubtnut.com/l/_q9nolZzHgUgn
https://dl.doubtnut.com/l/_UBE7oZI8xwwa

Answer: A::B::C::D

o Watch Video Solution

15. D-Glyceraldehyde and L-Glyceraldehyde are C' — 2 epimers

as well as enantiomers?

° Watch Video Solution

16. Which statements(s)is /are correct about sucrose?

A.(C; — a)(OH) of glucopyranose is linked with
(C’z( _8) (om) of fructofuranose.
B.(C; — a)(OH) of glucopyranose is linked with

(Cy — B)(OH) of fructopyranose.


https://dl.doubtnut.com/l/_UBE7oZI8xwwa
https://dl.doubtnut.com/l/_XsArjr6DcHvH
https://dl.doubtnut.com/l/_ZbpuAwAfPaYj

C. It reduces Fehling's solution.

D. It exhibits mutarotation.

Answer: A

° Watch Video Solution

17. Which statements are correct about sucrose?

A.IUPAC name of sucrose is a-D-glucopyranosyl-3-D-

fructofuranside.

B.IUPAC name of sucrose is S-D-fructofuranosyl-a-D-

glucopyranoside.

C. It is hydrolysed both by emulsin and amylase.

D. On hydrolysis, the solution is laevorotatory.


https://dl.doubtnut.com/l/_ZbpuAwAfPaYj
https://dl.doubtnut.com/l/_Go41hDn3qZjs

Answer: A::B::C::D

o Watch Video Solution

18. Which statements are correct about sucrose?

A.On complete methylation with Me, SO,/ NaOH, it
forms an octa-o-methyl product.

B. On complete acetylation with AcoO / NaOAC, it forms
a hexaacetate product.

C.On complete acetylation with Mey, SO,/ NaOH, it
forms hexa-o-methyl product.

D. On complete acetylation with Ac,O / NaOAC, it forms

octa-acetate product.


https://dl.doubtnut.com/l/_Go41hDn3qZjs
https://dl.doubtnut.com/l/_Nnv1xDwcAzWn

Answer: A::D

° Watch Video Solution

19. Which statements are correct about lactose?

A.(C; — B)(OH) of glucose is linked with (Cy — OH) of
galactose.

B.(C; — B) — (OH) of galactose is linked with
(Cy — OH) of -glucose.

C. It is hydrolysed both by amylase and lactase.

D. It exhibits mutarotation.

Answer: B::D

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_Nnv1xDwcAzWn
https://dl.doubtnut.com/l/_s9aI7M6AhIgk

20. Which statements are correct about lactose?

A.IUPAC name of lactose is 8 — galactopyranosyl-3-D-
glucopyranoside.

B. IUPAC name of lactose is 8 — D-glucopyranosyl 3 — D-
galactopyranoside

C. On methylation with MeOH / HCI, it gives methyl-3-
D-glactopyranosyl- 8-D-glucopyranoside.

D. On methylation with MeOH / HCI, it gives methyl- 8-

D-glucopyranosyl-3-D-galactopyranoside.

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_s9aI7M6AhIgk
https://dl.doubtnut.com/l/_1whY1zZQaF4W

21. Give Remedy of Bee sting pain.

o Watch Video Solution

22. |dentify (B)

Ac,O/NaOAC
Maltose —VcOHC > (B) —2 . |

(A) |
l
«————(O)

(D) 22—

o Watch Video Solution

23. How many base pairs in the gene are needed to code for

the enzyme lysozyme, containing 129 amino acids, found in


https://dl.doubtnut.com/l/_1whY1zZQaF4W
https://dl.doubtnut.com/l/_MOe70ZENTQqF
https://dl.doubtnut.com/l/_i9yniBwbS6Nq
https://dl.doubtnut.com/l/_VIirUfOVUcsh

egg white?

A 3 x 129
B. (3 x 129) + (3 x 2) = 393 base pairs
C. (3 x 129) + (3 x 3) = 396 base pairs

D.4 x 129

Answer: B

° Watch Video Solution

24. Which of the following contain disulphide linkages?

A. Oxytocin

B. Vasopressin

C. Insulin


https://dl.doubtnut.com/l/_VIirUfOVUcsh
https://dl.doubtnut.com/l/_SYuB0RVZe7x7

D. Haemoglobin

Answer: A::B::C

o Watch Video Solution

25. Globular proteins are present in:

A.Eggs

B. Muscles

C. Keratin

D. Blood

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_SYuB0RVZe7x7
https://dl.doubtnut.com/l/_O32KSrH52X0o

26. Identify (C)

MeOH/HCI Ac,O/NaOAc
Maltose —— > (B) — |

(A) |
l
«————(O)

H,0°

° Watch Video Solution

27. A mixture of three protiens, (A) (pepsin), (B) (haemo-

globin), and (C) (lysozyme) was seperated by elctrophoresis

method at pH = 7. The pH at isoelectric point (pI) of the

proteins are pI of (A), (B), and (C) which are 1.1, 6.7, and

11.0, respectively. which of the statement are correct?

A. Pepsin (A) will migrate to the cathode.

B. Lysozyme (C ) will migrate to the anode.


https://dl.doubtnut.com/l/_HXu2fkiKXn50
https://dl.doubtnut.com/l/_QHc0Nrcp4Eqp

C. Haemoglobon will not migrate.

D. At pH=7, (A) and (C ) would precipitate out while (B)

would remain in the solution.

Answer: A::B::C

° Watch Video Solution

28. Which statements are correct about the mixture of lysine
pl =9.6) and glycine (pI =5.97), sparated by
electrophoresis method or by solubility method?

A At pH = 5.97, glycine does not migrate while lysine

moves to the cathode.


https://dl.doubtnut.com/l/_QHc0Nrcp4Eqp
https://dl.doubtnut.com/l/_D5hRNr9pqU8j

B.At pH = 5.97, glycine does not migrate while lysine
moves to the anode.

C.At pH = 9.6, lysine does not migrate while glycine
moves to the anode.

D. At pH = 5.97 of the mmixture of the solution, glycine

precipitates out while lysine remains in the solution.

Answer: A::C::D

° Watch Video Solution

29. The structure of a basic amino acid, lysine, is given below:

<)
HOOC = O H - (CHy), - CH:NH; | (4)
® NH;

The pK,,pK,, and PK, of (A), respectively, are:


https://dl.doubtnut.com/l/_D5hRNr9pqU8j
https://dl.doubtnut.com/l/_KkKKbcGihD5S

2.18, 8.95, and 10.53.

What is the pH at isoelectric points (pI)?

A pKa1 + pKG,Q
’ 2
5 pK,, + pK,,
' 2
C pKaz + pKas
' 2
5 pK, + pK,, + pK,,
’ 3

Answer: C

° Watch Video Solution

30. Which statementsare correct?

A. Lactose is a disaccharide and is a reducing sugar.


https://dl.doubtnut.com/l/_KkKKbcGihD5S
https://dl.doubtnut.com/l/_jCGcOq8nqqDR

B. a-D-glucopyranoside and [ - D-glucopyranose are

anomers.

C. Methyl —a-D-glucopyranoside has an acetal structure

and is a non-reducing sugar.

D. a-D-Glucopyranose has a hemiacetal structure and is a

reducing sugar.

Answer: A::B::C::D

° Watch Video Solution

Exercises Single Correcttype

1. The main structure feature of proteins is



https://dl.doubtnut.com/l/_jCGcOq8nqqDR
https://dl.doubtnut.com/l/_5dpR9AUtGm36

A. Ether linkage

B. Ester linkage

C. Peptide llinkage

D. All the three above

Answer: C

o Watch Video Solution

2. Enzymes belong to which class of compounds?

A. Polysaccharides

B. Polypeptides

C. Hydrocarbons

D. Polynitro hetcrocyclic compounds


https://dl.doubtnut.com/l/_5dpR9AUtGm36
https://dl.doubtnut.com/l/_3MiFxE8KPOUj

Answer: B

o Watch Video Solution

3. Glucose reacts wih acetic anhydride to form:

A. Monoacetate

B. Tetra-acetate

C. Penta-acetate

D. Hexa-acetate

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3MiFxE8KPOUj
https://dl.doubtnut.com/l/_PNoznAVE9sAN

4. Which one of the following chemical units is certainly to

be found in enzymes ?

(b)
H
(c) ﬁ!\'J—i—
(c)
O
oHn


https://dl.doubtnut.com/l/_00aL9mlxDHb3

Answer: C

o Watch Video Solution

5.The function of enzymes in .the living system is to

A. Transport oxygen

B. Provide immunity


https://dl.doubtnut.com/l/_00aL9mlxDHb3
https://dl.doubtnut.com/l/_QLXd3C2aAuYa

C. Catalyse biochemical reactions

D. Provide energy

Answer: C

° Watch Video Solution

6.In DNA, the complimentary bases are

A. Uracil and adenine: cytosine and guanine

B. Adenine and thymine: guanine and cytosine

C. Adenine and thymine: guanine and uracil

D. Adenine and guanine: thymine and cytosine

Answer: B

| &


https://dl.doubtnut.com/l/_QLXd3C2aAuYa
https://dl.doubtnut.com/l/_Yqh7xd6kgtdE

[ W Watch Video Solution ]

7. Glucose molecules reacts with 'X' number of molecules of

phenyl hydrazine to yield osazone. The value of X' is

A. Three

B. Two

C.One

D. Four

Answer: A

o Watch Video Solution

8. Vitamin A is called


https://dl.doubtnut.com/l/_Yqh7xd6kgtdE
https://dl.doubtnut.com/l/_GtcF6Nw2xN7K
https://dl.doubtnut.com/l/_TUvZMSHZtSHz

A. Ascorbic acid

B. Retinol

C. Calciferol

D. Tocopherol

Answer: B

° Watch Video Solution

9. Carbohydrate which is an essential constituent of plants

cells is

A. Starch

B. Cellulose

C. Sucrose


https://dl.doubtnut.com/l/_TUvZMSHZtSHz
https://dl.doubtnut.com/l/_2nnpZO5PLtzl

D. Vitamins

Answer: B

o Watch Video Solution

10. The hormone which controls the process of burning of

fats, proteins, and carbohydrates and liberates energy in the

body is:

A. Thyroxine

B. Adrenaline

C. Insulin

D. Cortisone

Answer: C


https://dl.doubtnut.com/l/_2nnpZO5PLtzl
https://dl.doubtnut.com/l/_fyXcdcVT0XL3

o Watch Video Solution

11. Which one of the following has magnesium ?

A. Chlorophyll

B. Haemocyanin

C. Carbonic abhydrase

D. Vitamin B,

Answer: A

o Watch Video Solution

12.Vitamin Bj is:


https://dl.doubtnut.com/l/_fyXcdcVT0XL3
https://dl.doubtnut.com/l/_GMfPVwzlizfY
https://dl.doubtnut.com/l/_xHc9oDjmL7mV

A. Riboflavin

B. Cobalalmin

C. Thiamine

D. Pyridoxine

Answer: B

° Watch Video Solution

13. The deficiency of vitamin C' casuse:

A. Scurvy

B. Rickets

C. Pyrrohea

D. Pernicious anaemia


https://dl.doubtnut.com/l/_xHc9oDjmL7mV
https://dl.doubtnut.com/l/_AogGC25SWMXu

Answer: A

o Watch Video Solution

14. a-D(+)-glucose and B-D(+) glucose are

A. Enantiomers

B. Geometrical

C. Epimers

D. Anomers

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AogGC25SWMXu
https://dl.doubtnut.com/l/_tR7Htaf1rP8I

15. Sanger's reagent is used for the identification of:

A. N — terminal of a peptide chain

B. C' — terminal of a peptide chain

C. Slide chain of amino acids

D. Molecular weight of the peptide chain

Answer: A

o Watch Video Solution

16. The number of tripeptides formed by three different

amino acids is:

A. Three


https://dl.doubtnut.com/l/_dO1dzLuAoPov
https://dl.doubtnut.com/l/_ON6l8MF8D0JV

B. Four

C. Five

D. Six

Answer: D

° Watch Video Solution

17. Which structural feature distinguishes proline from other

natural @ — amino acids?

A. It is optically inactive.

B. It contains armatic group.

C. It is a dicarboxylic acid

D. It has a secondary amine.


https://dl.doubtnut.com/l/_ON6l8MF8D0JV
https://dl.doubtnut.com/l/_KaxDmntb7Fpj

Answer: D

o Watch Video Solution

18. Which is correct statement?

A. Starch is a plymer of a — glucose.

B. Amylose is a component of collulose.

C. Proteins are composed of only one type of amino acids.

D. In cyclic structure of furnaose, there are four carbon

atoms and one oxygen atom.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KaxDmntb7Fpj
https://dl.doubtnut.com/l/_76cnnIoSB3HQ

19. Which statement is incorrect about peptide bond

0

J—
—(C - NH - 7?

A.(C — N) bond length in proteins is longer than the
usual bond length of (C' — N) bond,

B. Spectroscopic analysis shows planar structure of
(CO — NH) group.

C.(C — N) bond length in proteins is smaller than usual
bond length of (C' — N) bond.

D. None of the above.\

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_L2OmMKCfIDqg

20.The vitamins absorbed from the intestine along with fats

are:

A A D

B. A, B

C.AC

D.D, B

Answer: A

° Watch Video Solution

21. The functional group which is found in amino acid is:

A.—COOH


https://dl.doubtnut.com/l/_UJvCboNnY4pV
https://dl.doubtnut.com/l/_RR8tVmJGLjDi

B.—NH,

C.—CH,

D. Both (a) and (b)

Answer: D

o Watch Video Solution

22. Complete hydrolysis of cellulose gives:

A. L-Glucose

B. D-Fructose

C. D-Ribose

D. D-Glucose


https://dl.doubtnut.com/l/_RR8tVmJGLjDi
https://dl.doubtnut.com/l/_JRmpYZoE9Ekm

Answer: D

o Watch Video Solution

23. The reason for double helical structure of DNA is the

operation of:

A. Electrostatic attractions

B. van der Waals forces

C. Dipole-dipole interactions

D. Hydrogen bonding

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JRmpYZoE9Ekm
https://dl.doubtnut.com/l/_FpkTX6q2avGT
https://dl.doubtnut.com/l/_QCtCFEIMsgda

24. Chargaff's rule states that in an organisms

A.The amount of adenine (A) us equal to that of
thymine (T) and the amount of guanine (G) is equal
to that of cytosine (C).

B. The amount of adenine (A) is equal to that of thymine
(T) and the amount of guanine (G) is equal to that of
cytosine (O).

C. The amount of adenine (A) is equal to that of cytosine
(C) and the amount of thymine (T') is equal to that of
guanine (G).

D. The amounts of all bases are equal.

Answer: A



https://dl.doubtnut.com/l/_QCtCFEIMsgda

| o Watch Video Solution

25. Subunits present in haemoglobin are

A2

B.3

C.4

D.5

Answer: C

o Watch Video Solution

26. Among the following, the achiral amino acids is


https://dl.doubtnut.com/l/_QCtCFEIMsgda
https://dl.doubtnut.com/l/_veZAOkM2EvQq
https://dl.doubtnut.com/l/_EhDsxEqWORs6

A. Ethylalanine

B. Methylglycine

C. 2-Hydroxymethylserine

D. Tryptophan

Answer: C

° Watch Video Solution

27. The hormone that helps in the conversion of glucose to

glycogen is

A. Cortisone

B. Bile acids

C. Adrenaline


https://dl.doubtnut.com/l/_EhDsxEqWORs6
https://dl.doubtnut.com/l/_RYXx98Aj7z5q

D. Insulin

Answer: D

° Watch Video Solution

28. The enzyme which hydrolyses triglycerides to fatty acids
and glycerol is called

(a) pepsin

(b) lipase

(c) maltase

(d) zymase

A. Maltose

B. Lipase

C. Zymase


https://dl.doubtnut.com/l/_RYXx98Aj7z5q
https://dl.doubtnut.com/l/_jaHghim1Rg0d

D. Pepsin

Answer: B

o Watch Video Solution

29. The correct statement in respect of proteins
haemoglobin is that it

A. Functions as a catalyst for biological reactions.

B. maintains blood sugar level.

C. acts as an oxygen carrier in the blood.

D. forms antibodies and offers resistance to disease.

Answer: C

| o Wiakl.\ntdaa AL .&lam



https://dl.doubtnut.com/l/_jaHghim1Rg0d
https://dl.doubtnut.com/l/_eizspQSFEyV0
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30. Which one of the following structures represents the

peptide chain :-

. O H
H ¢ H
C-N-C-C-N-C-
| IOI |
D.
H 0
N-C-C-C-N-
| | L{
Answer: C

H o
]
N-C-C-
(0]
|
C —

H
L]
FoY TN

o Watch Video Solution



https://dl.doubtnut.com/l/_eizspQSFEyV0
https://dl.doubtnut.com/l/_GfVBKRuf62I7

31. Number of chiral carbon atoms in 3-D-(+)-glucose is

A5
B.6
C.3

D.4

Answer: A

° Watch Video Solution

32.The helical structure of proteins is stabilised by

A. Dipeptide bonds


https://dl.doubtnut.com/l/_GfVBKRuf62I7
https://dl.doubtnut.com/l/_FHMsVA5Nj4LH
https://dl.doubtnut.com/l/_HPQ440eaRpE7

B. Hydrogen bonds

C. Ether bonds

D. Peptide bonds

Answer: B

° Watch Video Solution

33. Insulin production and its action in human body are

responsible for the level of diabetes. This compound belongs

to which of the following catefories:

A. A coenzyme

B. A hormone

C. An enzyme


https://dl.doubtnut.com/l/_HPQ440eaRpE7
https://dl.doubtnut.com/l/_vLgsoSFjdsMS

D. An antibiotic

Answer: B

o Watch Video Solution

34. Which base is present in RN A but notin DNA?

A. Uracil

B. Cytosine

C. Guanine

D. Thymine

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vLgsoSFjdsMS
https://dl.doubtnut.com/l/_UtoPIvc2WcsH

35. The nucleic acid base having two possible binding sites is

A. Thymine

B. Cytosine

C. Guanine

D. Thymine

Answer: C

o Watch Video Solution

36. Carbohydrates are stored in human body as the

polysaccharide

A. Starch


https://dl.doubtnut.com/l/_XNv8Utg7cw3i
https://dl.doubtnut.com/l/_MrLRFQ3tv1Vd

B. Glucose

C. Glycogen

D. Galactose

Answer: C

° Watch Video Solution

37. An alteration in the base sequence of nucleic acid

molecule is:

A. Relication

B. Mutation

C. Duplication

D. Dislocation


https://dl.doubtnut.com/l/_MrLRFQ3tv1Vd
https://dl.doubtnut.com/l/_cLrBPTCtOZlc

Answer: B

o Watch Video Solution

38. a and [ -glucose differ in the orientation of OH goup

around

A C,
B. C,
C.Cy

D. Cy

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cLrBPTCtOZlc
https://dl.doubtnut.com/l/_jZS7Zw36tvS4
https://dl.doubtnut.com/l/_gmqxgiYqptpU

39. Which functional group participates in the disulphide
bond formation in proteins?
(a)Thiolactone
(b)Thiol
(c)Thioether
(d)Thioester
A. Thioether
B. Thiol

C. Thioester

D. Thiolactone

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gmqxgiYqptpU
https://dl.doubtnut.com/l/_KdAeQkXOOLLT

40. 1 both DNA and RNA, heterocyclic base and phosphate

ester linkages are at

A.C5 and (), respectively, of the sugar molecule.

B.Cy and C, respectively, of the sugar molecule.

C.C; and Cj, respectively, of the sugar molecule.

D.Cy and (1, respectively, of the sugar molecule.

Answer: C

° Watch Video Solution

41. Which one of the following biomolecules is insoluble in

water?

A. o — Keratin


https://dl.doubtnut.com/l/_KdAeQkXOOLLT
https://dl.doubtnut.com/l/_jHLANJYvoV8M

B. Haemoglobin

C. Ribonuclease

D. Aldenine

Answer: A

o Watch Video Solution

42. For protein synthesis (translation) the third base of the

codon is less specific. True/False.

o Watch Video Solution

43. Which of the following is not produced by human body ?


https://dl.doubtnut.com/l/_jHLANJYvoV8M
https://dl.doubtnut.com/l/_zpqQdQB2MJKE
https://dl.doubtnut.com/l/_Q3mSu44U0sbd

A. Enzymes

B. DNA

C. Vitamins

D. Hormones

Answer: C

° Watch Video Solution

44.During the process of digestion , the proteins present in
food materials are hydrolysed to amino acids.
The two enzymes involved in the process

enzymes ( A) enzymes ( B)

proteins ~——— > polypeptides _ amino

acids.are respectively


https://dl.doubtnut.com/l/_Q3mSu44U0sbd
https://dl.doubtnut.com/l/_pxO1MCgkyVs1

A. Invertase and zymase

B. Amylase and maltase

C. Diastase and lipase

D. Pepsin and trypsin

Answer: D

° Watch Video Solution

45. The pair in which both species have iron is

A. Nitrogenase, cytochromes

B. Carboxypeptidase, haemoglobin

C. Haemoglobin, nitrogenase

D. Haemoglobin, cytochromes


https://dl.doubtnut.com/l/_pxO1MCgkyVs1
https://dl.doubtnut.com/l/_8irvrrQbQKaU

Answer: D

o Watch Video Solution

46. Thymine is

A.5 — Methyluracil

B.4 — Methyluracil

C. 3 — Methyluracil

D.1 — Methyluracil

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8irvrrQbQKaU
https://dl.doubtnut.com/l/_hMetBXnG8pyw

47.Lysine is least soluble in water in the pH range

A.3to4

B.5to 6

C.6to7

D.8to 9

Answer: D

o Watch Video Solution

48. Methyl-a-D-glucoside and methyl-3-D-glucoside are

A. Epimers

B. Anomers


https://dl.doubtnut.com/l/_yGwGekmBmp5O
https://dl.doubtnut.com/l/_eveFIhuGccJ7

C. Enantiomers

D. Conformational diastereomers

Answer: B

o Watch Video Solution

49. In addition to an aldehyde group, glucose contains:

A. One secondary and four primary OH groups.
B. One primary and four secondary OH groups.
C. Two primary OH and three secondary OH groups.

D. Three primary OH and two secondary OH groups.

Answer: B

| &


https://dl.doubtnut.com/l/_eveFIhuGccJ7
https://dl.doubtnut.com/l/_vdUP8gZspG24

[ W Watch Video Solution ]

50. At pH = 4, glycine exists as:
@ 0
A.H;N — CH,COO
@
B. H3N — CN,COOH
C. Hb NCH,COOH

S)
D. HL NCH,COO

Answer: B

o Watch Video Solution

51. Biotin is an organic compound present in yeast. Its

deficiency in diet causes dermatitis and paralysis. It is also


https://dl.doubtnut.com/l/_vdUP8gZspG24
https://dl.doubtnut.com/l/_y5esdKbScay9
https://dl.doubtnut.com/l/_CgVLGoy8htrM

known as:

A.Vitamin H

B. Vitamin B;

C.Vitamin By,

D. Vitamin D

Answer: A

O Watch Video Solution

52. The efficieny of an enzyme in catalyzing a reaction is due

to its capacity

A. Reduced the activation energy of the reaction.

B. Form strong enzyme-substrate complex.


https://dl.doubtnut.com/l/_CgVLGoy8htrM
https://dl.doubtnut.com/l/_i3a9QKHQoX3P

C.Decrease the bond energies of all the substrate

molecules.

D.Increase the free energy of the catalyst-substrate

reaction.

Answer: A

° Watch Video Solution

53. Glucose reacts with excess of phenylhydrazine and forms

A. Glucosazone

B. Glucose phenylhydrazone

C. Glucose oxime

D. Sorbitol


https://dl.doubtnut.com/l/_i3a9QKHQoX3P
https://dl.doubtnut.com/l/_SyHOKegDfoSv

Answer: A

o Watch Video Solution

54.The term anomer of glucose refers to:

A.lsomers of glucose that differ in configuration at
carbons one and four (C — 1 and C — 4).

B. A mixture of D — glucose and L — glucose.

C. Enantiomers of glucose.

D.lsomers of glucose that differ in configuration at

carbon one (C — 1)

Answer: D

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_SyHOKegDfoSv
https://dl.doubtnut.com/l/_YbExFgdJkjly

55.The pyrimidine bases present in DNA are

A. Cytosine and adenine

B. Cytosine and gunine

C. Cytosine and thymine

D. Cytosine and uracil

Answer: C

° Watch Video Solution

56. Hydrolysis of lactose with dilute acid yields:

A. Equimolar mixture of D — glucose and D — glucose.


https://dl.doubtnut.com/l/_YbExFgdJkjly
https://dl.doubtnut.com/l/_6hmGstJbTbGk
https://dl.doubtnut.com/l/_vO01k72TbjYQ

B. Equimolar mixture of D — glucose and D — galactose..

C. Equimolar mixture of D — glucose and D — fructose.

D.Equimolar mixture of D — galactose and D —

galactose.

Answer: B

° Watch Video Solution

57. Cellulose is a straight-chain polysaccharide composed of

only:

A. D — Glucose units joined by a@ — glycosidic linkage.

B. D — Glucose units joined by 8 — glycosidic linkage.

C. D — Glucose units joined by a — glycosidic linkage.


https://dl.doubtnut.com/l/_vO01k72TbjYQ
https://dl.doubtnut.com/l/_0nQoHZkminFu

D. D — Glucose units joined by 8 — glycosidic linkage.

Answer: B

o Watch Video Solution

58. Which one of the amino acids can be synthesised in the
body ?

A. lysine

B. Histidine

C. Valine

D. Alanine

Answer:

| o Wiakl.\ntdaa AL .&lam



https://dl.doubtnut.com/l/_0nQoHZkminFu
https://dl.doubtnut.com/l/_93G8OqzrF5DP
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59. Sucrose on hydrolysis gives:

A. Glucose+Glucose

B. Glucose+Galactose

C. Glucose+Fructose

D. Glucose+Lactose

Answer: C

o Watch Video Solution

60. The a-amino acid which contains the aromatic side chain


https://dl.doubtnut.com/l/_93G8OqzrF5DP
https://dl.doubtnut.com/l/_4tfrgeqdo6GN
https://dl.doubtnut.com/l/_IwXdjmMuqhsW

A. Proline

B. Tyrosine

C.Valine

D. Tryptophan

Answer: D

° Watch Video Solution

61. Which of the following is a female sex hormone?

A. Adrenaline

B. Esterone

C. Cortisone

D. Testosterone


https://dl.doubtnut.com/l/_IwXdjmMuqhsW
https://dl.doubtnut.com/l/_KfP6fnugbXPT

Answer: B

o Watch Video Solution

62. The chemical extracted from the plant Rauwolfia

sepentina is:

A. Aspirin

B. Quinine

C. Bithional

D. Reserpine

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KfP6fnugbXPT
https://dl.doubtnut.com/l/_IlNUC9yQ3e9D
https://dl.doubtnut.com/l/_AGZwObgH7r7Z

63. Which of the following is a plant growth inhibiter?

A. Heteroauxin
B. Gibberrellins
C. Cytokinnis

D. Abscisic acid (ABA)

Answer: D

O Watch Video Solution

64. The first sex attractant pheromone identified was that of

A. Cat

B. Dog


https://dl.doubtnut.com/l/_AGZwObgH7r7Z
https://dl.doubtnut.com/l/_onsjf7SBrAot

C. Gypsy moth

D. Human

Answer: C

o Watch Video Solution

65. To separate a mixture of monosacharides, you would use

A. Centrifuge

B. Chromatography

C. Mass spectometer

D. Electrolytic cell

Answer: B

| &


https://dl.doubtnut.com/l/_onsjf7SBrAot
https://dl.doubtnut.com/l/_Zsc4X95g1eF6

[ W Watch Video Solution ]

66. Which of the following carbohydrate cannot be digested

by human body?

A. Glucose

B. Sucrose

C. Glycogen

D. Cellulose

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Zsc4X95g1eF6
https://dl.doubtnut.com/l/_XGDU85PyTvfp

67. The Ruff degradation used to reduce the carbon the

carbon chain in an

A. Alcohol

B. Alkene

C. Ketose

D. Aldose

Answer: D

° Watch Video Solution

68. The Kiliani's synthesis is used to increase the carbon

chain in:


https://dl.doubtnut.com/l/_7c1yMvEtm3ae
https://dl.doubtnut.com/l/_gcmGvWT10AOj

A. Acid

B. Alcohol

C. Aldose

D. Ketose

Answer: C

o Watch Video Solution

69.a — D — glucose and 8 — D — glucose are enantiomers.

True/False

o Watch Video Solution

70. Choose the incorrect statement.


https://dl.doubtnut.com/l/_gcmGvWT10AOj
https://dl.doubtnut.com/l/_5VuMmhMlOHjv
https://dl.doubtnut.com/l/_9XgL6nsNf6XW

A. Protiens, like fats and carbohydrates, are primarily used

for supplying heat and energy to the body.

B. Proteins differ from fats and carbohydrates in that they

contain nitrogen.

C. Amino acids in proteins have L — configuration.

D. Enzymes are proteins.

Answer: A

° Watch Video Solution

71. Which of the following statements is incorrect?

A.Vitamins are included in diet because they are not

synthesised in the human body.


https://dl.doubtnut.com/l/_9XgL6nsNf6XW
https://dl.doubtnut.com/l/_hlFvbCx2xJVZ

B. Most vitamins fuction as coenzymes.

C.A person with diabetes mellituss suffers from

hypoglycemia.

D. Hypoglycemia can affect the brain due to low blood

sugar level.

Answer: C

o Watch Video Solution

72. Lactose is made up of:

A. Galactose unit and glucose unit

B. Glucose unit and fructose unit

C. Both glucose units


https://dl.doubtnut.com/l/_hlFvbCx2xJVZ
https://dl.doubtnut.com/l/_6E3ekKZ6Ni6N

D. Glucose and arbinose unit

Answer: A

o Watch Video Solution

73.1soprene units prevail in all the following except

A. Natural rubber

B. Vitamin A

C. Terpenes

D.Vitamin F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6E3ekKZ6Ni6N
https://dl.doubtnut.com/l/_t02ksbCXy1zW

74. At a certain calue of pH, amino acid does not

migrate towards any of the. Electrode under the

influence of electric field. This pH is called

A. Eutectic point

B. Neutralisation point

C. Effusion point

D. Isoelectric point

Answer: D

° Watch Video Solution

75. During aerobic respiration, one molecule of glucose

produces:


https://dl.doubtnut.com/l/_aAOgrCRmkpg9
https://dl.doubtnut.com/l/_EGRdoDi6KbEg

A.2AT P molecules

B.50AT P molecules

C.38AT P molecules

D. 36 AT P molecules

Answer: C

o Watch Video Solution

76. The chemical substance which acts as emulsifier is:

A. Phosphoric acid
B. Fatty acid
C. Bile acids

D. Mineral acids (HCI)


https://dl.doubtnut.com/l/_EGRdoDi6KbEg
https://dl.doubtnut.com/l/_GZHodihWxhPo

Answer: C

o Watch Video Solution

77. If the sequence of bases in one strand of DNA is
ATGACTGTC then the sequence of bases in its
complementary strands is:

ATACTGACAG

B.TUCTGUCCUG

C.GUAGTUAUG

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GZHodihWxhPo
https://dl.doubtnut.com/l/_sX0HMnwrELIq

78.The RN A which takes part in the synthesis of proteins is:

A.m — RNA
B.r — RNA
C.t — RNA

D. All the above

Answer: D

o Watch Video Solution

79. Mark the incorrect statement about AT P.

A. It is a nucleotide.



https://dl.doubtnut.com/l/_sX0HMnwrELIq
https://dl.doubtnut.com/l/_tH0wXWa2dhff
https://dl.doubtnut.com/l/_sihCDYxwWVbc

B. It contains the purine adenine.

C. The enzyme-catalysed hydrolysis of AT P to ADP and

AMP is accompanied by absorption of energy.

D. Energy is stored in the cell in the form of AT P.

Answer: C

° Watch Video Solution

80. The sequence in which amino acids are linked to one

another in linear sequence in a protein molecule is called its

A. Primary structure

B. Secondary structure

C. Tertiary structure


https://dl.doubtnut.com/l/_sihCDYxwWVbc
https://dl.doubtnut.com/l/_zcEgHDoyYcpH

D. Quaternary structure

Answer: A

o Watch Video Solution

Exercises Assertion Reasoning

1. Statement I: Glycosides mutarotate.

Statement Il: The anomeric OH is etherified and the

equilibrium with the free carbonyl form is destroyed.

A. Statement I is true, Statement II is true, Statements

11 is the correct explanation of Statement 1.


https://dl.doubtnut.com/l/_zcEgHDoyYcpH
https://dl.doubtnut.com/l/_GbNdaixcP696

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement 11 is true.

Answer: D

° Watch Video Solution

2. Statement I: There is a releatikonship between the ability
of a sugar to mutarotate and to reduce Tollens reafent.

Statement 1l: The reduction of Tollens reafent and
mutarotation both depend on the presence of free carbonyl

form.


https://dl.doubtnut.com/l/_GbNdaixcP696
https://dl.doubtnut.com/l/_rwBH6pfRRPr1

A. Statement I is true, Statement I is true, Statements

11 is the correct explanation of Statement 1.

B. Statement I is true, Statement I/ is true, Statement I/

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I/ is true.

Answer: A

° Watch Video Solution

3. Statement |: Glucose and fructose both reduce Schiff's
reagent.

Statement II: Both have free carbonyl group.


https://dl.doubtnut.com/l/_rwBH6pfRRPr1
https://dl.doubtnut.com/l/_GHcFCOXw7af5

A. Statement I is true, Statement I is true, Statements

I is the correct explanation of Statement I.

B. Statement I is true, Statement I/ is true, Statement I/

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I/ is true.

Answer: D

° Watch Video Solution

4. Statement I: D-Fructose is used for sweetening cold drinks
but not hot ones.

Statement II: the sweet form is fructopyranose, on increasing


https://dl.doubtnut.com/l/_GHcFCOXw7af5
https://dl.doubtnut.com/l/_RbjAgqDlLMKz

termperature causes or shift in the pyranose < furanose

equilibrium towards the less sweet furanose form.

A. Statement I is true, Statement II is true, Statements

11 is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I1 is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RbjAgqDlLMKz

5. Statement |I: D — 2 — Deoxyglucose reacts with
3molPhNHN H, and form an osazone.
Statement Il: D — 2 — Deoxyglucose has no
(C — OH) group a — to the (C = O) group.
A. Statement I is true, Statement I is true, Statements
IIis the correct explanation of Statement I.
B. Statement I is true, Statement I is true, Statement 11
is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uYHfN0PuzI7X

6. Statement I: B — D — Glucophyranose is the most

abundant naturally occuring aldohexoses.

Statement II: All the ring substituents in the chair

conformation are equatorial.

A. Statement I is true, Statement I is true, Statements

IIis the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tPWSHpyvZcYL

7. Statement I: D — 3 Deoxyglucose has gfour chiral C

atoms.

Statement II: It exists in eight stereoisomers.

A. Statement I is true, Statement II is true, Statements

ITIis the correct explanation of Statement I.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MjsHA7QoaQyr
https://dl.doubtnut.com/l/_vTQHtzR5fPwE

8. STATEMENT-1 : Enzymes are protein but protein are not

enzymes

and

STATEMENT-2 Enzymes are bio-catalyst and posses a stable

configuration having a active site poket.

A. Statement I is true, Statement I is true, Statements

IIis the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vTQHtzR5fPwE

9. Statement I: A triester of glycerol with stearic acid on
boiling with Aq. NaOH gives solid cake with soapy touch.
Statement II: Free glycerol is liberated which is a syrupy
reactions.
A. Statement I is true, Statement II is true, Statements
I is the correct explanation of Statement I.
B. Statement I is true, Statement I is true, Statement I/
is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vTQHtzR5fPwE
https://dl.doubtnut.com/l/_JYY1xoBBOHJh

10. AT P is the main source of energy of many anaerobic

realations.

Statement Il: Anaerobic reactions occur in the presence of

oxygen.

A. Statement I is true, Statement I is true, Statements

ITIis the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement 11 is true.

Answer: C

| ° Watch Video Solution


https://dl.doubtnut.com/l/_JYY1xoBBOHJh
https://dl.doubtnut.com/l/_rh1E7oewBLJY

11. Assertion:Carboxypeptidase is an exopeptidase

Reason:lt cleaves the N-terminal bond.

A. Statement I is true, Statement I is true, Statements

11 is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement 11 is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rh1E7oewBLJY
https://dl.doubtnut.com/l/_iVan8HFYMMaN
https://dl.doubtnut.com/l/_WS4fUyHUKI4z

12. Statement-1: Cellulose is not digested by human beings.

Statement-2 : Cellulose is a polymer of 8 — D-glucose.

A. Statement I is true, Statement I is true, Statements

ITIis the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement I/

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WS4fUyHUKI4z

13. Statement I: Thymine occures in RN A.

Statement Il: RN A controls the synthesis of proteins.

A. Statement I is true, Statement II is true, Statements

II is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement [ is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GGRmXFeanswt

14. Statement I: Insulin is a globular protein.

Statement II: It has two polypeptide chains with 21 and 30

amino acids joined by sulhur bridges connecting cysteine

amino acid on the two chains.

A. Statement I is true, Statement I is true, Statements

I is the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IJ54YYDI1084

15. D — Fructose with dil. NaOH undergoes a reversible

isomerisation and is converted to a mixure of D — glucose,

D — mannose and S — fructose.

Statement II: This reaction is known as Lobryde Bruyn-van

Ekenstein rearrangement.

A. Statement I is true, Statement I is true, Statements

11 is the correct explanation of Statement 1.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

| ° Watch Video Solution


https://dl.doubtnut.com/l/_2wQbppka0vR3

Exercises Archives Single Correct

1. Which of the following pair give positive Tollen's Test ?

A. Glucose, Sucrose

B. Glucose, fructose

C. Hexanal, acetophenone

D. Fructose,sucrose

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2wQbppka0vR3
https://dl.doubtnut.com/l/_kIApwj7hs15v

2.The two forms of 'D-glucopyranose obtained from solution

of D-glucose are known as:

A. lsomer

B. Anomer

C. Epimer

D. Enantiomer

Answer: B

o Watch Video Solution

3. Cellulose upon acetylation with excess acetic anhydride/
H,50, (catalytic) gives cellulose triacetate whose structure

is


https://dl.doubtnut.com/l/_S9ey1HfBHtzD
https://dl.doubtnut.com/l/_LsfxhCNW7PEi
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Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LsfxhCNW7PEi

4.The correct statement about the following disaccharide

CH,OH
H O Q H
S H HOH,C
OH H '9)
HO CH,OH
H OH OH H

A.Ring (a) is pyranose with a — glycosidic link.
B.Ring (a) is furanose with o — glycosidic link.
C.Ring (b) is furanose with a — glycosidic link.

D. Ring (b) is pyranose with 8 — glycosidic link.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FSxzND4ABYct

5. The correct statement(s) about the following sugars (X)

and (Y)is /are:

CH,OH
H 0 H HOH,C ) H
H L0
HO PH H 0 CH,OH
H OH (X) OH H
CH,OH
—QO H
H 1 o
CH,OH H
OH
H @) O
H OH H
OH H
HO H
H OH (Y)

A.(X) is a reducing sugar and (Y) is a non-reducing
sugar.
B.(X) is a non-reducing sugar and (Y) is a reducing

sugar.


https://dl.doubtnut.com/l/_bG4gY97M4vOS

C. The glucosidic linkage in (X) and (Y) are o and f,
respectively.
D. The glucosidic linkages in (X) and (Y) are 8 and a,

respectively.

Answer: B::C

o Watch Video Solution

Exercises Archives Assertion Reasoning

1. Statemet-1: Glucose gives a reddish-brown precipitate with
Fehling's solution.
Statement-2 : Reaction of glucose with Fehling's solution

gives CuO and gluconic acid.


https://dl.doubtnut.com/l/_bG4gY97M4vOS
https://dl.doubtnut.com/l/_Opy9uqFa000c

A. Statement I is true, Statement I is true, Statements

ITis the correct explanation of Statement I.

B. Statement I is true, Statement I/ is true, Statement I/

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I/ is true.

Answer: C

o Watch Video Solution

Exercises Archives Analytical And Descriptive



https://dl.doubtnut.com/l/_Opy9uqFa000c

1. Alanine, the amino acid the respective structure at pH = 2

and pH =10 will be

o Watch Video Solution

2. Give the structure of each of the products in the following

reactions:

3
(ii) Lol

° View Text Solution

3. As partune, an artifical sweetener, is a peptide and has the

following structure:


https://dl.doubtnut.com/l/_nVpeW0P86fPo
https://dl.doubtnut.com/l/_oQFgUBvTJg6c
https://dl.doubtnut.com/l/_00Lz5hXKMB2W

2

cooe O HIOH

(H) lHaO ..............
{—Phie

HoN OH + H,N { no-polar

// OH part

COOH O (B)

(A)

Identify the four functional groups.

o Watch Video Solution

4. Write down the heteroheneous catalyst involved in the

polymerisation of ethylene.

o Watch Video Solution



https://dl.doubtnut.com/l/_00Lz5hXKMB2W
https://dl.doubtnut.com/l/_boNmR8BRwiuF

5. Following two amino acids liosine and glutamine form

dipeptide linkage. What are the two possible dipeptides?

2

o View Text Solution

6. (a) Draw the structure of L — glucose.

(b) Give the reaction of L — glucose with Tollens reagent.

o Watch Video Solution

7. 'Which of the following disaccharides will not reduce

Tollens reagent? o

o View Text Solution



https://dl.doubtnut.com/l/_5d7u6KvmPiMf
https://dl.doubtnut.com/l/_ASVozKMTKT0G
https://dl.doubtnut.com/l/_fNblYaLI4EEI

8. Arrange in the order of increasing acidic strengths.

.
H;N

Z NH,
Y\/\/Y

COOH
X

o Watch Video Solution



https://dl.doubtnut.com/l/_ldFbCJOy1psh

